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5 (Ip ) 3.5

8 (Ra) 3.6

) g 21.3747 - 21.3719
6 (Ip ) 3.5

16 (Ra) 4.1

) g 21.0587 - 20.9544
7 (Ip ) 3.5

32 (Ra) 4.4

) g 24.2589 - 24.173
8 (Ip ) 3.5

64 (Ra) 55

) g 23.7833 - 23.7254
9 (Ip ) 3.5

128 (Ra) 6.2

) g 23.7418 — 23.7115
10 (Ip ) 3.5

256 (Ra) 6.4

) g 23.2939 - 23.1708
11 (Ip ) 3.5

512 (Ra) 6.9

) g 21.245 - 21.2328
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(9) (9) (%)
5 47.7267 47.7265 0.0196
6 47.7867 47.7739 0.019
7 47.7739 47.7577 0.0188
8 47.7269 47.7255 0.0018
9 47.7568 47.7561 0.0014
10 47.7561 47.7553 0.0012
11 47.7553 47.7548 0.001
g/min
0.01
0.008 /’ -
0.006 A N 1P=3.5
0.004 / AN il
0.002 £ ‘\lﬁ
o Lol
8 16 32 64 128 256 512
(mSec)
4,54
IP=3.5(279mA)
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0.025

0.02 _-’=.—_\
0.015

Ip=3.5
0.01 \\ =8
0.005 \_
0 i ) |
8 16 32 64 128 256 512
(mSec)
1p=3.5(279.5mA)
( )
Ra(u m)
/‘.__.——I""’p._ e
==

7“’/

w &~ o1 oo N o

8 16

Ip=3.5(279.5mA)

32

64 128 256 512

mSec
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g/min

0.01
0.008 /’ B—g
0.006 n
‘ T IP=3.5
0,004 —F 8
7 .\Iﬁ
0.002
=
8 16 32 64 128 256 512
(mSec)
454
IP=3.5(279mA)
Ra(p m)
Ip=3.5
T P33

w B~ O ~ ©

mSec

Ip=3.5(279.5mA)

256 512
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12 35
16 8
0.00799 3.7
6 3.5

16 16
0.00891 4.1
13 3.5

16 32
0.00895 4.15
14 35

16 64
0.00673 4.2
15 3.5

16 128
0.00389 4.2
16 35

16 256
0.002 4.26
17 35

16 512
0.00099 4.28
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18 3.5

32 8
0.00531 4.084
19 3.5

32 16
0.0067 4.29
7 3.5

32 32
0.00851 4.5
20 3.5

32 64
0.0091 4.6
21 3.5

32 128
0.0067 5.14
22 3.5

32 256
0.0035 5.3
23 3.5

32 512
0.00178 5.22
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(9) (%)
12 0.0234 0.04
6 0.0128 0.038
13 0.0165 0.034
14 0.0038 0.0078
15 0.0046 0.0096
16 0.001 0.002
17 0.001 0.002
18 0.0085 0.0178
19 0.0139 0.029
! 0.0162 0.0188
20 0.0029 0.006
21 0.0026 0.0054
22 0.0026 0.0054
23 0.0024 0.004
0.01
0,008 g
0.006 ﬁ\\
==——
3
8 16 32 64 128 256 512
(mSec)
Ip=3.5(279.5mA)
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Ra(u m)

'/ T p=4(l6mSec)
3.5 .
' T p=5(32mSec)
3 -
8 16 32 64 128 256 512

Ip=3.5(279.5mA)

mSec

0.045
0.04 Mg T p=4(16mSec)
0.035 -R ==
0.03 =5t mSec)
0.025 PZaiN \ i

: ¥ b
0.015 <

0.01
0.005

0
8 16 32 64 128 256 512

3.5(279.5mA) mSec
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0.01

0.008 el " >
0.006

et

0.004 1 p=4(16mSec)

ol
T p=h(32mSec)

0.002

]

1p=3.5(279.5mA)

32 64 128 256 512
(mSec)
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39 35
16 8
0.00007 2.21
40 35

16 16
0.00008 2.24
41 35

16 32
0.00006 2.4
42 3.5

16 64
0.00006 2.07
43 3.5

16 128
0.000065 2.07
44 35

16 256
0.00007 2.19
45 35

16 512
0.00008 2.1
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46 3.5

32 8
0.00005 2.62
47 3.5

32 16
0.00006 2.69
48 3.5

32 32
0.00006 2.81
49 3.5

32 64
0.00008 3.05
50 3.5

32 128
0.0001 2.82
51 3.5

32 256
0.00007 291
52 3.5

32 512
0.00005 2.93
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(9)

(%)

39 0.000094 0.0002
40 0.000091 0.0002
41 0.00009 0.0002
42 0.0002 0.0004
43 0.00023 0.0005
44 0.00033 0.0007
45 0.000379 0.0008
46 0.00005 0.00011
47 0.000047 0.0001
48 0.00005 0.00011
49 0.000061 0.00013
50 0.000047 0.0001
51 0.000091 0.0002
52 0.00018 0.0004
( )= (
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g/min

0.11
0.1
0.09 A\
0.08 4 £
/\ / T p=5
0.06 _./l AN T p=4
0.05 Nyl
0.04
8 16 32 64 128 256 512
[p=3.5(279.5mA)
T p=5(32mSec)
mSec T p=u(lémSec)
Ra(p m)
3.2
3 J\v_-—l
2.8 T 5
2.6 T 8
2.4 + ¢
2.2 %_—.,
2
8 16 32 64 128 256 512
Ip=3.5 279.5mAg
T p=5(32mSec
mSec T p=4(16mSec)
(T )
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32 64 128 256 512

16

1p=3.5(279.5mA)
5(32mSec)

4(16mSec)

3
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T

mSec
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)
4.51 2.7 7.86 8.93
1668 660| 1530{ 1083
(MPa) 10.43 6.91| 19.22| 11.67
(M Q-cm 20 ) 47 55 2.1 9.7 1.1
( Cu, ) 3.1 64 18 100
(cal/c /sec/ /cm) 0.041 0.487 0.145 0.923
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g/min

0.11
0.1
0.09 ZAN
0.08 < / v
0.07 [ A/‘)\/v %
0.06 _./I AN Tpsé
0.05 \I—
0.04
8 16 32 64 128 256 12
1p=3.5(279.5mA)
T p=5(32mSec)
mSec T p=u(16mSec)
Ra(p m)
3.2
3 ‘\\./.___.
- J/././ TS
2.6 T
i, .,—4/\
2.2 4 v g
2
8 16 32 64 128 256 512
1p=3.5(279.5mA)
T p=5(32mSec)
mSec T p=4(16mSec)
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g/min

0.11 0.01
A

0.1 oY = A 0.009

009 S 0.008

: 7 0.007

0.08 2 / N = 0.006 TS

0.07 & /)\ 0.005 "hy
,ﬁi — . 0.004 4

0.06 T A~ 0003

0.05 !: 0002

0.04 0.001

1p=3.5(279.5mA)
T p=5(32mSec)
mSec T p=u(16mSec)
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0.9 1.5
0.8 A
0.7 T
0.6 1 -,
05 & L 1
0.4 /t +
0.3 ./ / 0.5 A
0.2 Ha m]
0.1 (H—+ — 42 A
0 0
8 16 32 64 128 256 512
1p=3.5(279.5mA)
T p=5(32mSec)
mSec T p=4(16mSec)
Ra(u m)
6
5 A = A
7AN
. A A A T _._5
T
‘——M\‘\ A
—r4
2 +
1
8 16 32 64 128 256 512
1p=3.5(279.5mA)
T p=5(32mSec)
mSec T p=4(16mSec)
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(mA) (mSec)

279.5 16

279.5 32

(mSec) (9) (Ra) ()
128 0.000065 2.17 0.0005

64 0.00008 3.05 0.00013
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36.0

5.0

3.5
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4.51

2.7 7.86 8.93

1668 660 1530 1083

(MPa) 10.43 6.91 19.22 11.67
(W Q-cm 20 ) 47 55 2.7 9.7 1.7

( Cu, ) 3.1 64 18 100

(cal/c /sec/ /cm) 0.041] 0.487 0.145 0.923
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